Nombres Décimaux (D)

Trouvez chaque somme ou différence.

32,2 +299 = 61,6 - 0,573 =
2,77-1,75= 8,23 - 5,29 =
112 -54,5= 97,6 - 13,8 =
969 - 965 = 6,76 - 0,513 =
452 - 61,7 = 9,41 -1,17=
71+9,59 = 0,113 +925 =
2,85+37,8= 192-0,417 =
12,5 -5,05= 18,8 + 1,81 =
4,79 + 0,385 = 746 + 824 =
93,1 +34 = 8,55 + 70,8 =
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Nombres Decimaux (D) Solutions

Trouvez chaque somme ou différence.

32,2 +299 = 331,2 61,6 - 0,573 = 61,027
2,77 -1,75=1,02 8,23 - 5,29 =2,94

112 - 54,5=57,5 97,6 - 13,8 = 83,8

969 - 965 = 4 6,76 - 0,513 = 6,247
452 - 61,7 =390,3 9,41 -1,17=8,24

71 + 9,59 = 80,59 0,113 +925=925,113
2,85 + 37,8 = 40,65 192 - 0,417 = 191,583
12,5 - 5,05 =7,45 18,8 + 1,81 = 20,61
4,79 + 0,385 =5,175 746 + 824 = 1570

93,1 +34=127,1 8,55 + 70,8 = 79,35
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